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QUESTION 1

Scenario: An administrator needs to configure a shared storage repository for a XenServer pool. The storage team has
provisioned 500 GB of storage space on a NetApp SAN to be used for the XenServer storage repository. Thin
provisioning and data deduplication were defined as requirements for the storage repository and must be enabled using
XenCenter.

Which type of storage repository will allow the administrator to meet the specified requirements?

A. NFS VHD

B. Hardware HBA

C. Software iSCSI

D. Advanced StoragelLink

Correct Answer: D

QUESTION 2

An administrator of a Provisioning services environment notices that several of the target devices that are configured to
use a vDisk on the provisioning server are randomly failing to start and shut down.

What should the administrator check to prevent this issue from occurring?
A. The SOAP Service is running.

B. High availability is enabled on the vDisks.

C. The target devices are configured to start up from hard disk.

D. All network switch ports have spanning tree protocol disabled.

Correct Answer: D

QUESTION 3

An administrator cloned a template into a virtual machine and then converted it back into a template. Which action must
be performed on the disks to restore expected levels of disk performance?

A. Run SysPrep

B. Complete a full copy

C. Execute a fast clone

D. Suspend before cloning

Correct Answer: B
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QUESTION 4

Scenario: An administrator built four new hosts in an existing XenServer pool that already has multiple hosts connected
to a shared storage over Fibre Channel. The administrator discovered that the new hosts are NOT able to connect to
the existing storage repositories.

Which two steps can the administrator take to resolve the issue? (Choose two.)

A. Check the log files.

B. Recreate the storage repositories.

C. Verify that the LUNs are mapped and zoned correctly.

D. Convert the storage repositories to shared storage repositories.

Correct Answer: AC

QUESTION 5

Which two DHCP options must an administrator configure for a target device to start up without PXE using a bootstrap
file? (Choose two.)

A. 64
B. 65
C. 66
D. 67

Correct Answer: CD
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